CLUB TD COURSE — COMPARABLE CALLS QUIZ

Name

The call struck out is out-of-rotation or insufficient. Will the call in red be comparable?

Situation Yes No
W N E S
1. INT P 2C 2D
2B P
2. . 1S
P P 1H 2S 2Sisintermediate
3. 1C 2C 1D 1C is Precision 16+ 1D is 0-8 HCP
DB DBL is 5-8 HCP
4. b ... is Note: After 1H overcall: X shows
1H X 4 spades, 1 spade 5 or more
5. INT ... 2b 2D is a transfer 3H is not forcing
2S 3H
6. INT ... 2D 2D is a transfer 3H is forcing
2S 3H
7. INT ... 2D 2D is a transfer
2S 4H
8. INT P 2D 2S 2D is a transfer
2H
P
9. INT P 2D 2S 2D is a transfer
2H
3H
10. 1H 3H is a game-forcing fit-jump
1S P 3H showing 4+ spades & 5+ hearts
11. INT INT is weak
1C P 1S
12. 1S
1C 1S
13. ... iH
1S P 2H
14. 1S




